[]

ot &b o KH EF
A2 SRS S PS; T X} XESH()
19.07.04 ot TGN EX|2%= 000 =¥ CH # O| At 50,000
19.07.04 StET () M =5X[22t= 000 2% CHE O| A 50,000
19.07.04 ot =210 =1t 000 & CH # O| At 50,000
19.07.04 StET () M Z2t0f|=1f 000 2t CHE O| A 50,000
A 200,000




Ot A2 oF T &

AL XH RS 44 oy 4 XA | HESAUER)
2019.07.04 | X|Y0j=Qlatel ZHE ] AT | X[ G0=2l 242 ot 48,000
2019.07.11 | HTHAFAF TS st ZHES] ACH |07 | BRARE 2|79l Al &l Z|o} 124,000
2019.07.11 | SHZHAKLtO| ZHEHS Aty | S ABARXE 2/(62)) 25ty 90,000
2019.07.15 | XY ZQlnto| ZHET] AL X9 AZEQ 2B o=AFF=0E 31,000
2019.07.18 e Kol Pl g= el A EHZA XL 2/(991)| ¥m 2|otktolStLE 220,000
2019.07.19 | X|<0f=Qlut X0zl 28| el 87,000
2019.07.23 | X|¥oj=Qlat Xlgdojsol 2(52)| HWESHE 40,000

72 A (71) 640,000

2019.08.07 | MTHALR =TS 25t 7HE 3 7| 22 A XL 2] (221) 22,000
2019.08.08 | MTHALRY =TS 3+ 7HES IR, HEE R /@4l 48,000
2019.08.12 | X0 =Qlnto| ZHE 3 X go=2l 259 64,600
2019.08.19 | 3 A XItS| 7HE T S A XL 2/(492) 105,000
2019.08.26 | 0f|= 7| 22t A Xt 2to| ZHE 2| Ofl & 7| BB A IR} 2|49l 20,000
2019.08.27 TA| 2 ZHE] O] = 2A Xt 2[(52!) 71,000
2019.08.30 | X|Go=Qlutol 7HE3| | Z2ANHELET X|Yo=2l 242l 28,000
SEAA(7H) 358,600

2019.09.03 S A S A X 2|(3¢2) 51,000
2019.09.04 | MTHALY =7 S 7| 22 AR 2] (221) 30,000
2019.09.04 | SHAY HE S AKX} 239 37,000
2019.09.05 [ AlZtAIXtLO AEEA X 2/42) 54,000
2019.09.06 | X|of|=2ln I UNSU RS, Xl9o=2l 252l 74,000
2019.09.10 | SHArY =z ZHE! SHBAX 2(62) 55,000
2019.09.10 | X|goj=Qlute| 7HE 3 Xl9o=2l 252l 63,500
2019.09.19 | 3 A XItO| 7HE T S A XL 2/(3¢2) 55,000
2019.09.20 | X|Yoj=Qlute| 7HE 3 Xl9o=2l 232l 29,000
2019.09.20 | XA EQlnte| 7HEZ| X gei&Eel 262) 135,000
2019.09.26 | X|Yoj=Qlnte| 7HE 3 ol&2l 232 30,000
9EAAI(11) 613,500

A4 (257) 1,612,100




